February 2015

www.taegutec.co.kr

1/10




o

-
Ell
ﬂ

Member IMC Group.

F

|

February 2015

www.taegutec.co.kr
Z

3PKT 152} 19

2 2
APKT 2 ANHX Eflab 20|
G

EAE
=L
(@

o]
=

A2 JHE MILLRUSH QIMEQ}
=N

A=, SAlof

rE
£

Al=l0] O €501 o[0]

=
=]

Lick Z[Zof

= gieloll 7+

o
oJ
ru
pal
i
™
0
ol
un
L
=
ol
o))
|
O
&)
T
e
o
™M
[
_

X|
=]

FAY
O

MANS 7}
IMEE 3PKT 152 19A10]

{0l
® OE MILLRUSH 3PKT QIME N

" 517 20mmEE 23

ojof £
2y

4

OFK &
o
x|
=




1 February 2015

www.taegutec.co.kr

S 3110

Ete! (3PKT 15 & 3PKT 19)

=
=

CIME 37|0f }

SM3 QINE SM2 QIME

3PKT 15 3PKT 19
2.3 24
4.1 4.8

| -
e lO et News G U

Member IMC Group.




2IME 37|0f| mE EE

HEQ| 21

1 February 2015

www.taegutec.co.kr

410

OINE

A= el

T

3PKT 06

@20-32

050-63

3PKT 10

@32-40

3PKT 15

@40

@50-80

3PKT 19

@50

@63-100

* 2t OIME T QU B
LANI7 |0, ZEElof BfLto

3 BEYE flolM B0 ERE 7HE ALES FHELICL

\1IVT T

A:SM2 B :SM3

L EHY AEROME AFBE £ UsLICh

& ooy
/i

Y =

‘? CHE

7 Member IMC Group.




1 February 2015

www.taegutec.co.kr

5/10

3PKT-SM

oIME

X|2= (mm)
t ap a
5.0 11.0 1.6
6.0 15.0 2

oI5

7
T4 (mm/rev)

TT9080 TT8080 TT7800 TT6080

3PKT 150508R-SM2 0.07-0.17 °

150508R-SM3 0.07-0.17

190608R-SM2 0.09-0.22

190608R-SM3 0.09-0.22

G oE

7 Member IMC Group.




1 February 2015

www.taegutec.co.kr

6/10

3P TEF-06

21 7H

@&

SEe olME

3P TEF D20-20-W20-06 3PKT 0603...
D25-24-W25-06
D32-32-W32-06

&

3P TEF-06 TS 20043I/HG-P

o N

Q) Predi g TN ¢ o

7 Member IMC Group.
/i




1 February 2015

www.taegutec.co.kr

7110

3P TEF/TES-10

21 7H

L]

90°

74

3P TEF D32-42-W32-10 - - 3PK(H)T 1004...
D40-42-W32-10 : :

3P TES D50-48-22R-10 : : . SH M10X1,5X50
D63-54-27R-10 : : . SH M12X1.75X50

NTEEEE

_&w

3P TEF/TES-10 TS 25C065I/HG

Member IMC Group.

G oE




1 February 2015

www.taegutec.co.kr

8110

3P TEF/TES-15

21 7H

AL TS
iy WS
A Ny

‘J 22 AT
,/////////;2;7/ /AIIIIIII ﬁi

72 g mam=e

3P TEF D40-40-W32-15 - = = 3PK(H)T 1505...
3P TES D50-40-22R-15-2F 8 ® - b SH M10X1.5X50
D50-40-22R-15 = = b SH M10X1.5X50
D63-50-27R-15 = ® 3 SH M12X1.75X50
80-60-32R-15 - - . SH M16X2X50

&

3P TEF/TES-15 TS 40B100!

Q. Predir g, _ ¢ U=

7 Member IMC Group.

0



1 February 2015

www.taegutec.co.kr

9/10

3P TEF/TES-19

21 7H

x| A
72 g mEAREE

3P TEF D50-55-W40-19 - o o 3PK(H)T 1906...

3P TES D63-42-27R-19 - - ! SH M12X1.75X50
D63-42-27R-19-4F - - ! SH M12X1.75X50
D80-56-32R-19 - - . SH M16X2X50
D100-83-40R-19-4F - g ' SH M20X2.5X80
D100-83-40R-19 g ’ SH M20X2.5X80
D100-83-40R-19-6F - ! SH M20X2.5X80

EEEE

_&w

3P TEF/TES-19 TS 451201

(e MReElliet News | i

/i




1 February 2015

www.taegutec.co.kr

10/10

ALY AR
TT9080 | TT7800 | TT8080

<0.25%C
>=0.25%C
<0.55%C
>=0.55%C

220-370 | 160-270 | 170-250
180-310 | 140-210 | 130-220
115-195 | 90-160 | 90-170
130-210 | 100-170 | 100-190
115-175 | 80-140 | 70-160
175-265 | 140-200 | 150-220
130-215 | 90-160 | 110-190
105-185 | 70-150 | 80-160
95-160 | 60-110 | 70-120
85-155 | 60-90 | 70-110
75-135 | 50-90 | 60-100
115-270 90-200
100-230 70-160
120-275 100-210

MHH | 00 | A | O | e | I
Ol | Of | o | O | ol | o

o
il
1t

o
17
i)

O OoINOO| OB~ WD |—

—_
o

ool | MM
ol | o
A

o

17
oo

H[2I0|EA/OF2HIAO[EA
OFEHIAOIEA
QAH|LIOIEA
hj2to|E
ZEo|E
H2t0|E
=Helo|E
hjzto|E
o= E}O | E

| 15tx{2| OFE
43tz
w 2| ot=l
S

—_
n

—_
w

—
~

—_
()]

200-390
160-300
130-250
110-210
210-330
130-280

—_
()

—_
~

—_
(o]

—_
((=)

n
o

N
—_

oX 0
rol-

N
N

=
roln

<=12% Si

n
w

=
nN
=

o | OX [ON
ﬂ

>12% Si
>1% Pb

[=1]
=T
ok
oy
N
(o))

Ofor El
|0 | | o |t |t | o

ne

m

N

(6]

N
B

N
(o]

N
©

w
o

w
uré

wW
N

w
w

w
N

wW
(3]

Rm 400
Alpha+beta Al Z3tx2] Rm 1050
o171§|.7'(.| 3

W
(o]

w
J

wW
[e 9]

wW
©

N
o

N
—_

@ Breclisek News ) Cje



